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Layer 4, T=18degC
® Data
O Simulation

Data: A=1.230 +0.008
Data: B=0.292 +0.004

Sim: A= 1.254 £0.004
Sim: B=0.300 +0.002

TR BT
1.5 2
Over Bias (V)

Layer 2, T=18degC
® Data
O Simulation

Data: A=1.207 +0.006
Data: B=0.214 +0.004

Sim: A=1.237 £0.003
Sim: B=0.202 £0.002

0.5 1 1.5 2
Over Bias (V)

Pedestal Width (counts)

Pedestal Width (counts)

N
N

N

1.8

1.6

1.4

Layer 3, T=18degC
® Data
O Simulation

Data: A=1.212 +0.007
Data: B=0.262 +0.004

Sim: A=1.246 +0.003
Sim: B=0.244 +0.002

N
N

TR BT
1.5 2
Over Bias (V)
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Layer 1, T=18degC
® Data
O Simulation

Data: A=1.197 +0.003
Data: B=0.147 +0.002

Sim: A=1.221 +0.003
Sim: B=0.131 £0.002

0.5 1 1.5 2

Over Bias (V)
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